H & 0l & AHS B Ml A

20248 =0ila LEHSIH Al

M ZAID
M SADRE

SR EAIZeHE - 2 2™ (SH9 H2)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
S A 16,119,513 17,420,794 A 1,301,281
) 6,058,000
S 100,000
Al 9,9%1,513
SADHE 4,121,239 6,157,1% A2,035,957
= 50,000
Al 4,071,239
A2 & 454,800 80,880 373,920
SAIZelHE =8 454,800 80,880 373,920
201 L= 71,180 66,380 4,800
01 AF22t2ltl 28,880 24,080 4,800
O SAAHERARS 3ES =S
100,000& 14 *10=] 14,000
O ZAAEAE 28 S M2818
2,000,000 *27H A< 13! 4,000
O L5t X =4l XS
8,000& x4+ 128+ 103 3,840
O HMIME(HEE, T, TAHEES4S)
540,000 540
O d=2d&g =8 MH
7,000&+100& 700
O SUMaHHY te=s 2
200,000& 4 800
O H&etd 2 S22 Jds /35
5,000,000& 5,000
02 3224l 42,300 42,300 0
O EX0IEAHE 50 222 HELEE
150,000 x2H 300
O ZAAEESHA(PIS)AIAE HWS X 22|
uf 18,000, 0002 18,000
O FE0I12HE SEEHSKLIP) BB 2= &
2|l 22,000,000& 22,000
O edielodt 4R Xt
200,000 1CH* 102 2,000
202 044l 4,500 4,500
01 2L AL 4,500 4,500
O TAAE P28 0
10,0002 *5H 90 4,500
203 R =& 10,000 10,000
03 AIHFRI AR =L 10,000 10,000
O ZAItE= F=RAIH =&
7,000,000 7,000
O TAHE L HAI =z
3,000,000 3,000
401 AIEHIZL 2 OHYI 369,120 369,120
01 Al&HI 369,120 369,120




A SAID
X-I;_(H: E/\letéF
el CARRIHE S W A (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O ZADI2AHE & SAIZeHE HEH &
A 369, 120,000& 369,120
CAEE &Y 161,519 111,3% 50,123
= 50,000
Al 111,519
CA A 33,600 34,600 21,000
201 et 3| 3,600 4,600 1,000
02 s3=gHl 3,600 4,600 A1,000
O ESM Ji= Z2 JI23 2 JHEAY d2tx
g &I 22 45,0003 122 540
O HelHICIOAMEX 7 &2 2=
5,000&x12& 60
O HelQHIEIHAIR X AldE |2t
3,000,000 %14 3,000
401 Al HIZL 01 30,000 30,000
01 Al&HI 30,000 30,000
O YA S3FHIAS(ZEIES)
30,000,000 * 14 30,000
A CIRFRN FZOHE At 34,752 36,352 A1,600
201 Ler23| 32,352 33,952 A1,600
01 At2teltl 32,352 33,952 21,600
O EZAHEDI HEE
200, 0002 x4 *232 18,400
O S3Z28= &2 #4+¢
100,000 8 & *42] 3,200
O 22 & 330 AYE HA
100,000 x 12 +63] 7,200
O ZAILIA AR A
8,000 x2E*12E +63] 1,182
O ZAILIXE! SR ARESSE 728
200,000 * 122 2,400
202 04l 2,400 2,400
01 SLHoIH 2,400 2,400
O ZAICIE! HeFA 0oy
20,0003 x2& »60! 2,400
CAIOIZ2 JHA 43,167 40,444 2,723
101 @12A4H| 5,049 4,926 123
04 JIZtN2 2 XS E 5,049 4,926 123
O ZAIDI2 8| 212
78,8803 x2& 32! 5,049
201 2= 35,718 33,118 2,600
01 At2t2lt] 24,718 23,118 1,600
O A2 Edlg =25 7Y
150,000& « 12& 1,800
O A2 EHl 222 M&
5,5002 100 550




22X ZAI
I CADNZ

&l SAIEE =4 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SN EETIEEEN ETICE e
Z271) 7Y 200,000 x22H+23] 800
O ZAIDIZ EHl HRFL sS4
8,000& x3&*12& «62] 1,728
O 2D YOG BHLE
100,000& 4 & *32] 1,200
O ZAIDIZ2 FH tSZ DL AAIAE (AICS)
=g gz 1,470,000& 122 17,640
O SUH AHEE 7
200,000 5% 1,000
2 S22l 11,000 10,000 1,000
O TAl0IZ "l X |2l
8,000,000 = 1CH 8,000
O A0 8l IS A2MALE 2
SRS 200,000 x 122 2,400
O ZAIDI2 Sl g8 sUds StRs
50,000& * 128 600
202 04| 2,400 2,400
01 =LHO LI 2,400 2,400
O ZAlI0Z Edl HR2FE o]
20,0003 2&»60 2,400
XA ES FoIHHZAIZR) 50,000 0 50,000
= 50,000
401 Al HIZL S 0HYI 50,000 0 50,000
< 50,000
01 AlZ2H| 50,000 0 50,000
O UW&as &80l HEAE
50,000,000 50,000
== 50,000
CADIZY S2IHEAIS 3,504,920 5,964,920 A\2,460,000
gelli=~M=32 g2z M4 2,500,000 0 2,500,000
401 Al HIZ S OHbI 2,500,000 0 2,500,000
01 AlZ2H| 2,500,000 0 2,500,000
O deilte~Ms3sa d2:2 4
2,500,000,000& *14] 2,500,000
SAHE E2HE AL 1,004,920 3,664,920 22,660,000
201 er23 | 2,520 2,520 0
01 At2teltl 2,520 2,520 0
O ZAAEEZ HEAMHFN SAHI
8,000 2 *12& 102 1,920
O ZAAHEEZ HEMY AEES P
200,000 34 600
202 04| 2,400 2,400
01 =LHOLI 2,400 2,400
O SAIHEEZ(EII0IE™)HRFA0H]
10,0002 «3E «80! 2,400




A SAID
B CADNY
B2l SADIRY S2IHEALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 1,000,000 3,660,000 22,660,000
01 Al&H| 993,700 3,643,692 A2,649,992
O WIN0IEY TAANEEZ 2o & JH|
24 & ZAH 1,000,000,0002%99.37% 993,700
03 Al = THHI 6,300 16,308 10,008
O DI TAHEERZ 2o & 4|
24 % ZAF1,000,000,0002 +0.63% 6,300
SADIE = 168,646 829,646 A661,000
AEA 2 168,646 829,646 A661,000
ANEHOISE L3 168,646 829,646 /661,000
201 fer23| 114,986 94,986 20,000
01 AtR2t2|HI 1,986 1,986 0
O A2l HEAHEE Ity 2= MA 1,686
— dEX 4,860 1002 486
— =5 50,0003 »240H 2 1,200
O H&EA0IE 243t 82 & S+
60,0002 x50 A 300
2 ZZ2H| 113,000 93,000 20,000
O Alel RE =8 Jbel
110,000,000 * 14! 110,000
O SgXEN 2g & =cl
50,0002 +20CH*33! 3,000
202 04l 1,660 1,660
01 =LHAHI 1,660 1,660
O A&EH 2dstitg g2
10,0002 x2& +83 1,660
401 Al HIZ S OHbI 50,000 730,000 A\680,000
01 A28l 50,000 730,000 680,000
O MEAE2Z AIEFHI(5IH =)
50,000,000 »14! 50,000
402 QI2F X201 & 2,000 3,000 21,000
01 QI X2 AL E A (KEMITHE) 2,000 3,000 21,000
O X&EH N2 25 2,000,000& *14] 2,000
CAIEH 11,778,698 10,369,632 1,409,066
[ 6,058,000
= 50,000
Al 5,670,698
JI2Eots EX 29 3,570,609 4,513,121 N942,512
=S 50,000
Al 3,520,609
2 2ots EX=2d 3,520,609 4,513,121 AN9R,512
201 et 3| 1,687,609 1,657,609 30,000
01 AtR2te|Hl 1,302 1,302 0




A SAID
M CAIE
Chelr JIZ2=Eets 8X 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O JtZ2(2ehHs EZ otz ZAM
8,000 x4 »363] 1,152
O JIZSA E2&1 SR
150,000& %12 150
02 s3=gHl 1,686,307 1,656,307 30,000
O JR(2OHE HEEA |ABU+4E
18,0002 *1,300S 23,400
O 8ds JIZ2(Eeh)E dJIes3
1,630,000,000& 1,630,000
O JI12S HFAZAMOAAY Stes
1,500 x2600H 2% 123 4,680
O Jt2S AL SAHI| FA2+
296,580,000 *8% 23,721
O I=2sS 0 82208 AIER
375,000 x 122 4,500
202 048l 3,000 3,000
01 2L A b 3,000 3,000
O H2(2ehHs 2Fa ol
20,0003 x28 »75 3,000
206 M=Hl 450,000 450,000
01 MHZH| 450,000 450,000
O Jtz2(2ehHs Nss g7y
100, 0002 +3,0007H 300,000
O Jt2(2ehHs LI, 817 & 7Y
100,0002 %1, 500K 150,000
401 AIEHIZ SR THYI 1,380,000 2,402,512 1,022,512
01 AlZ8| 1,380,000 2,402,512 1,022,512
O SHESXY H2(2ehHE sAlaeEx
750,000,000 750,000
O JtZ2(EehHS A& (234 S8¢s)
400,000,000& 400,000
O JH=2(=2ehHS FHI(23M 82HS)
3,000,000& *50S 150,000
O ®MII£Hl |AE Jt=2(2ehHsS FHI (2304
SHS) 200,000 4005 80,000
NHLES FOIHA(OIZS) 50,000 0 50,000
= 50,000
401 AIEHIZ SR OHYI 50,000 0 50,000
[ 50,000
01 Al&H| 50,000 0 50,000
O dEHeE 2 Ji2S Z£XISA
20,000,000 20,000
=S 20,000
O =9 &y FAXR IHZ2(EeHS &X
SAE 20,000,000 20,000
S 20,000




SN AL
M CAFY
Chelr JIZ2=Eets 8X 29 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O &=3H 2 JtI=2S EX3AL
10,000,000& 10,000
& 10,000
XS ALS 8,208,089 5,856,511 2,351,578
iy 6,058,000
Al 2,150,089
KGNLR2/LHE A ZE AZEE ZHAMY 8,106,509 4,254,968 3,851,541
= 6,058,000
Al 2,048,509
101 2124 d| 22,409 22,409
M I1RIZ2Z2XsE+ 22,409 22,409
O 8435 RUER 29% 2122 (3~12€)
2,240,880& x 1B+ 102 22,409
201 B2 AL| 20,520 2,388 18,132
01 ArR2eltl 11,120 2,388 8,732
O KGHLAE HRFX
8,000 x2H«12& x 102 1,920
O 845 RUEE 2L(HINES P (MR
L HAEE S) 300,000& 123 3,600
O S¢S REH 2t 2 29 oHfE 2
5,000,000& 5,000
O SOiMoHolY et 2AAEE P
200,000 »3H 600
02 3324l 9,400 0 9,400
O 845 ~BMHS2 /238 SA(H
A)=e 100,000 «8 & 43 3,200
O S84t SHMHSA WRMEE SIIA4
SAIE 200,000 *3CH 600
O S84S5 FHMEZSE RMEE |RAIE=H|
2,000,000 *14] 2,000
O 4s ~HMEHIR 2323 (HI], &=+
C 8 ER 300,000& =123 3,600
202 04dl 5,580 5,580
01 =WOdbI 5,580 5,580
O XHLAIY HARFE oHI(RE, &
A8H S) 10,0003 *2H*140 2,800
O XSNLAY RFX HHl(8Ysl, WS
N HARX A S)
10,0002 *2% 139 2,780
401 A& B2 20HY| 8,058,000 4,247,000 3,811,000
= 6,058,000
Al 2,000,000
01 AlEHI 7,742,855 4,235,533 3,507,322
O WEACIZEHAEZ LAY
6,058,000,000& *99.75% 6,042,855
s 6,042,855




A SAID
M AFY
Rl XIS IHEALS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O UZARIZENZER ZENY P22
1,700,000,000& 1,700,000
02 Zaltl 300,000 0 300,000
O LiZ4 2IXE HBE2 ZHAS(EE)
AL AR RIZIS O (2BY)
300,000,000 300,000
03 Al 20HHI 15,145 11,467 3,678
O WHAMRIZEHZEZ ZEAI
6.,058,000,0002 *0.25% 15,145
= 16,145
359 2% 2 1,580 1,601,543 1,599,963
101 ©1AH| 1,580 1,543 37
M ORNZZ2NSE S 1,580 1,543 37
O BSAZE KIE=
197,450 x4 x 12 23] 1,580
NE25 46 B2 ST RTA 100,000 100,000
401 AIEHIL L] 100,000 100,000
01 A&l 100,000 100,000
O NE2EH HRP2 STHBAF AAIEH
g9 100,000,000 *14] 100,000
AH =S 3 50,930 64,320 213,390
=34 50,930 64,320 213,390
Jl=2&H] 50,930 64,320 213,390
201 er23 | 24,762 24,762 0
01 At2teltl 24,762 24,762 0
O AL JIZ2AHR 22l
24,762,000& 24,762
202 O4H| 13,368 13,368
01 2L A 13,368 13,368
O A J=ge =80
13,368,000 13,368
203 g4l 7,400 8,900 21,500
01 J|2=2gdR=aH] 3,800 3,800 0
O ZAIAE= J[22E8 28|
3,800,000& 3,800
M A2 LRFAI 3,600 5,100 1,500
O BA2Y YRFTHI(20E015H)
300,000 * 122 3,600
204 MR AH| 5,400 5,400
01 MG H2=HAHH| 5,400 5,400
O A¥g YR+ HY] 5,400
— DAHE=E 350,000& x1H~12& 4,200
— SAIME 100,000 x 12 * 12 1,200




